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Alg 1 Credit Recovery Sem 1 Ch 2 Notes: Graphing Lines

2.1 Notes: Slope

Slope: What does it mean? Watch this video, from the start to 4:40:
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Fxamples: Find the slope of each line from the graphs shown, Write your answer in simplified form,
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Slope can he thought of as:
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Types of slope (positive, negative, zero, undefined):
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You try! Find the slope each line graphed below, or
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The Slope Formula: m
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Examples: Lse ihe Slope formula o lind the slope ol ihe line connecling the iwn lisied points.
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Example 13: Use the graph to draw a line thar goes through the point (4, 2)

and has a slope of — %
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Example 14z Use the graph Lo draw a line that goces through the
point (-1, -3) and has a slope of 5. Hint: think of the slope as a fraction.
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23 Notes: Graphing Lines in Z =mx+ b form

What is a line? slope - intiegt Hem
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Slope-intereept form of a line:

-mx + b
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Graphing lines in slope-intercepl form:
1y begin with the b-value (the - ]ﬂﬁﬁ tepk }
2y use the slope m W move 1o the nest point.
Reminder: slope = 1!_51
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Examples: Graph each ling in slope intercepl form below. Yoo need af Least two poinis on your graph.
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Activity: Use the coordinate system below, along with a spaghetti noodle, to quickly graph the equations

given by your teacher.
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Writing Fquations of Lines in Slope-lntercept Form:

= X +b
) T

3

pitk 2

3 e

3

)

_—

ran
Examples: Given cach graph, write the equation of the line shown in slope-intercept form,

Ch 2 Notes: Graphing Lines
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1.Graphy=4x-2 Sé 2

Ch 2 Notes: Graphing Lines

The equation for each problem DOES NOT MATCH the graph below it. Find the correct match and
write the letter of that graph in the blank.
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2.3 Notes: Graphing Lines in (#&, k) form f\
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Graphing lines in (h, k) form:
e plot (k) point
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Examples: Graph each line,
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Alg 1 Credit Recovery Sem 1 Ch 2 Motes: Graphing Lines
Maore practice: Graph each line.
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Alternative method: Consider the equation from#2) y = —4{x + 2} + 5
Convert this equation into slope-imtercept form, and then graph the line.
Compare W your vesull [rom &2,
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7) Use the equation from #5, Convert this into slope-intercept form,
and then graph. Compare with your result from 5,
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2.4 Notes: Graphing Lines in Standard Form

Ax + By = C
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Converting Equations to Slope-Intercept Form
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Examples: Each linc is in stands

Standard Form of a Line
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Examples: Each linc is in standard form. Convert each line to slope-intercept form. Then
graph each line.
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v B
2.5 Notes: Graphing Special Lines % not $ IIN#OL /P.\W!j .
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Fxploration! Wark with your group or partner.
Ao Consider the horizontal line shown below. WName 5 points on this line, What do these points have in
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B, Consider the vertical line shown below, Name 5 points on this line, What do these points have in
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Examples: Tor cach special line graphed below, write its cquation.
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